







Proving Summation

- Example: Show that $1^2 + 2^2 + 3^2 + ... + n^2 = n(n+1)(2n+1)/6$, where $n \in Z^+$
- Proof:
 - Basis case P(1): LHS=1² = 1, RHS=1*(1+1)(2*1+1)/6=1
 - Inductive step:
 - Assume P(k) is true:
 - $1^2 + 2^2 + 3^2 + \ldots + k^2 = k(k+1)(2k+1)/6$ • For P(k+1):
 - Show that $1^2 + 2^2 + 3^2 + ... + k^2 + (k+1)^2 = (k+1)(k+2)(2k+3)/6$ (Details on Board)
 - We showed P(k+1) is true under the assumption that P(k) is true.
 - By mathematical induction P(n) is true for all positive integers

Proving Inequalities • Example: $n < 4^n$, where $n \in Z^+$ • Proof • Basis case: P(1) holds since 1 < 4• Inductive step: • Assume P(k) is true: $k < 4^k$

- For P(k+1):
 - $k\!+\!1\,<\,4^k\,+\!1\,<\,4^k\,+\,4^k\,=\,2^{\star}4^k\,<\,4^{\star}4^k\,=\,4^{k+1}$
- By mathematical induction P(n) is true for all positive integers

Mathematical Induction (Base case **Proving divisibility** n≠1) • Example: Prove that n³-n is divisible by 3 whenever n is a positive integer. Basis case doe not have to be n=1 • Basis step: P(1): $1^3-1=0$, which is divisible by 3. Inductive step: How to show that P(n) is true for n=b, b+1, • Assume P(k) is true: k³ -k is divisible by 3 • For P(k+1): b+2,... where b is an integer other than 1? (k+1)³ -(k+1) • i) Basis step: Verify P(b) is true $=k^{3}+3k^{2}+3k+1-k-1$ ii)Inductive step: Show $P(k) \rightarrow P(k+1)$ is true for $=(k^{3}-k)+3(k^{2}+k)$ arbitrary k∈Z From the assumption, k^3-k is divisible by 3, so P(k+1) is true. By mathematical induction, P(n) is true for all positive integers

Prove ∑_{i=0}ⁿ arⁱ⁼¹ arⁿ⁺¹ arⁿ if r≠1 Proof by induction: P(n): a+ar+ar².... +arⁿ = (arⁿ⁺¹ -a)/(r-1) Basis case: P(0): a = (ar-a)/(r-1). So, P(0) is true Inductive step: Assume P(k) is true for arbitrary k∈N, a+ar+ar².... +ar^k = (ar^{k+1} -a)/(r-1) Need to show P(k+1): a+ar+ar².... +ar^k + ar^{k+1} = (ar^{k+2} -a)/(r-1) is true. LHS = (ar^{k+1}-a)/(r-1) +ar^{k+1} = (ar^{k+1}-a +ar^{k+2} -ar^{k+1})/(r-1)

- So LHS = RHS.
- We showed P(k+1) is true under the assumption that P(k) is true.
- By mathematical induction P(n) is true for all natural

n∈N Proof by induction: Basis step: P(0): LHS=1, RHS = 2¹ - 1 = 1. Inductive step: Assume P(k) is true for arbitrary k∈N, 1+2+...+2^k = 2^{k+1} -1 Need to show P(k+1): 1+2+....+2^k+2^{k+1} = 2^{k+2} -1 is

• Show that $1+2+2^2+...+2^n = 2^{n+1}-1$, where

- Need to show P(k+1): $1+2+...+2^{k}+2^{k+1} = 2^{k+2}-1$ is true. LHS = $(1+2+...+2^{k})+2^{k+1} = 2^{k+1}-1+2^{k+1} = 2^{k+2}-1$
- So LHS = RHS. We showed P(k+1) is true under the assumption that P(k) is true.
- \circ By mathematical induction P(n) is true for all natural numbers



Strong Induction Variation A more general strong induction can handle cases where the inductive step is valid only for integers greater than a particular integer. • To prove that P(n) is true for all integer $n \ge b$, we complete two steps: i) Basis step: Verify P(b), P(b+1), ..., P(b+j) are true ii)Inductive step: Show $P(b+1)\wedge P(b+2)\wedge \dots \wedge P(b+k) \rightarrow P(k+1)$ is true for every integer $k \ge b+i$

- Example: Show that if n is an integer greater than 1, then n can be written as the product of primes
- Proof by strong induction:
 - First identify P(n), P(n): n can be written as the product of primes
 - Basis step: P(2): 2 is a prime number, so P(2) is true.
 - Inductive step:
 - Assume P(j) is true for $1 < j \le k$ for an arbitrary k > 1, i.e. j can be written as the product of primes when $1\!<\!j\!\le\!k$
 - Need to show P(k+1).
 - Case 1: k+1 is prime, then P(k+1) is true. • Case 2: k+1 is composite

k+1=a*b, where a and b are positive integers, and $2 \le a, b \le k$. By the assumption, a and b can be written as the product of primes. Then k+1 can be written as the product of primes.